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i o Part A
Answer all questions. on tl-zs paper ztself

(Ol) Flnd the ﬁrst approxlmatlon of V7 (25x25= 6 25)

(02) Simplify = px:

Inthe ﬁgure BD is a straight line. Find the value of x and
b’ accordmg to the gwcn data. ‘

( 04) The Dxagram shows a hollow cylmder of hexght 20 cm, which is formed usmg a thin sheet The
cxrcum.ference of i its ba_-e is equal ;othe length of 4B . I

3y Wnte the name of thv geem’tncal shape of
the sheet obtained when the ‘cylinder is cut along
- theline 4B?
) What is the area of the curved sunace of the cyhnder

[f

,C' ﬁ.BCD is paraue!ogram AB =6cm and BC= Scm lue mm-pumt '
' - of ADis P..PQ// AB and QR // BC Find the penmeter of
', quadn]ateral PORD. ’
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(06) -Find thclea.st t:qmmbn mﬁiﬁple‘o% 6x ad#d

(07) Write [gI00 =x inindex form

_‘ (08)' A and B are two sets where, .
o s A= (even numbersbetweeno and 10}
B={2,3,5,7}

| Wiitthe st AUB

ABC and D are four points on the circle
_ with center is O . According to the given data
" in the figure, find the vah;e of x and ».

. '. i
. (H) Sf)l‘le.. E =

(12) When x is a positive whole number v
: What is the maxtmum value X cantake whete 3x + 16 < 100 7.

13) ‘Water continues to ﬂow into a cuboni sbaped tank of length 2m, breadth Im and hexght 0.8mcm
at the rate of 40 lm'es per minute. How long will it take to fill the tank t:cmplet\:lyJ7 '

" “The radius of the large cm;le is twice the radius of the smatl
i circle. The two.circles touches each other at 4. 4,5, CD ase four
" poinis on the large cirgie. 4, P, @, Rare four points on small -
© ' tircle. The side BC has besn produced to E. Accordmg to the-
o datagwenmthcﬂgureﬁndthevalueofxandy -
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. us é;ccordmg o {he gwen wite down Lhe

ratto sin 8

SR 15}_ ABCD 1sa parallelogram, ﬁnd‘th%: vahie _of_a,b,: i o

(1 7 ) ""hv pmbabxhty that sef_-j -:ermmatcs ts and thc pmbdmht y thata pluat nears tﬂnts e o
What is tha pmaab:ht v of ».‘uch germmated plantbea*mg fi-uzis L

© Wit the equéﬁqn_ of thefl_i.ne}—‘iB. "

45 iza rhmd of acitcle vn*‘x center O, The pr'rpe' ‘r‘ular
drawx fiom @ tothe cnordAB is § om. long. If the radlus of
the circle i 15 b <m, tmd !he lengm of the chord 4

N 30} A dl.t} of 0% is charged wbeu un"scfmng 1 blcycle worth Rs 45000. Fmd tha vaiue c»f the
bwycle azt L paymg auty - ‘ . :

" Inthe fgu:e,lﬁc AOB Wiite down tiwo pa:rs of
© | elements thai should be equal inl the triangles AOC’ and
AOB Fﬂr Ehe tnangles to be oongmeut under Jle caseAAS
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'5,., b, 8, : ,
Whm xis 'x ﬁr-sﬂm“ whole numbet, :ndmar ﬁw l !‘;‘ term of fsc.—: iven geormiric

-

nmgtcs..scm in mﬁtr form.

W'[t“ i@xﬂn tn 4 term.

- sf the a-;d;dates who applied for a test did notsit for iL. 60% of the candidutes Who sat forthe = -
tq,sz pa ssed the test .md the rest failed in thc fest. m’e pie chart given below shows the above

+
.

ﬁformatmn
// > - dtd nof $it far ;he !eat

@A

5

oS
LN i&"’ﬂ. f
.

//'

Find the vaiuz ofthe dngles xand y

A history book refers to that a certain artefact has
*buen ‘buried at the location P -which. is on the
aght rcﬂfi l.’:’hng m the mat: ~ gagt diiaction
€ifs l'in.(sim '
; your
inowledys of xw, ::iiutb% '
given s diagrag '

_ ?ﬂ.i”z -B
.Ar:s"«vﬁr a!f’ Fuzstons otz this paper £308F

"T‘-..-A wice of ien gta 70 m i3 cut it pleces *t length. ; m e—a:‘b. Hﬁw mam pieces of wire can

' ri be cm mtn»

'.:k: tf'mﬂma detaJ:, ﬂbont ac i journey are given béle}w. .

-,- of th.. total dxs*anz,e of tne Journe y was: fr.welied by bus.

- =ofthe remalﬂmg distance was travelied by ﬂ_)e jeep. .

a
T

Fmalh a distance of 2 km was travelled on foot.

"0 After travelling by bus, what fraction of the total discance remained?



https://pastpapers.wiki/

if) What faction of the tatal distance was the disiance travelled by the jeep?

itf) What portion of the total distance was the distance travelled on foot?

i '_;"_i'v") Find the lotal distance of the joui'ney'_.' S

__Flowers have been grown in the two sectors
* “contained in the semi-circular part shown in the
figure. Wooden sticks have been erected every
8 cm along the edges of the sectors as a
- protective fence and sand has been spread in the

remammg portwn.

x) What is the radms ofa sector m cennmetres ?
" ii) Find the perimeter of a sector.
- iii) How many wooden sticks are required to erectalorig the édges of the three sectors?

i_v) Find the area of the part &h’eie :_"f'l'ovi'eré hﬁve;beevn grown.

(03) a) A certain urban counctl charges 6% annual rates for a shop of asses»d annual value
. -‘Rs 140000. The owner of the shop reats out the shop for Rs. 7 7500 per month From the
mcome he recexves, he spends 5% on the shop mamtenance _ _
i) Whatis the gotal am;ount r_ece._we_d as rent ina year? -

F A
r
B

i) What is the amount that should be allocated for the maintenance and the rates for a year?
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i) Aficr allocating money for the maiﬁle:imce and the rates, he dc.po.\.ﬁs the fcmaining-
amount in a financial institute which pays an annual sunple interest rate of 8%. Find
the interest he receives at the end of one yesr.

)" 15 men take Gdays to dig a drainage. After 10 .rner{ wark for 4 days, how many more men
- should be empiloyed to complete the task within the scheduled number of days.

- (04) ) Thg.:;candidates‘\%/h‘o apptied for acertam job’}{aivq to sit for a competitive examination
- before being selected to the job. The aumber of candidates who applied for the job was
- 130. Of them, 65 were female candidates and the number of candidates who failed the

competxtvc exammatlm was 75.

Female . ,

. . —t| ——Candidates who passed in

candidates. |77 ... .
o N the competitive exam.

i) Ifthe nl.mber of fﬁhﬁ= c'anciidétés who passed the competitive examination was 40,
mclude this information in the given Venn dxagram Fird the numb»r af male
- candidates who passed the competitive exam. L

ii) In the given Venn diagram,sha_c_!g“thé rggiQn representing the male candidates who
 passed the competitive exam and write down that number. - .

St "'herP are 4 blue balla and 3 red bails in the conta.ne; B. Ali these balls are of the same
. size and same sha;ac Aballis taken randomly out of the container A and put into the
‘container B and then 2 ball is taken randomly out of the container B. Depxct the

relevant sample space in a Venn dxagram :

“i¥) Find the probabilify of the two balls taken out being blue.
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2). The diagram given below shows 2

histogram which represenits the marks
~ cbtained by a group of students for 2
" question paper for ‘which marks are
' awarded out of 50. .

10 720 3’-0-‘40,.-\507c?assmtma1 g

0 Draw the frequency polygon on the hlstogram |
iiy Using the above hlstogram, complete the frequency table glvcn below o

Class interval Frequency
0-10 K
. 10-20
20 - 30
- 30-50

Ciass interval requency | . Cumulative
I frequency

-8
15030 L e
3Q,3.25, R ;
25-30
30-35
3540 . s S
. 4gas |
4550

A ﬁ'cquency:tab]é containing r.he marks obtamed by another gronp of students
+  for the same’ paper is given here. Fill in the blanks in the frequency co!umn and

the cumulative frequency column. .
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) Uéing the table, draw a cumulative fn:quency curve on the given coordinate plane.

Cumulative | ' .
Frequency

60
56
52
48
2
40 §
36
32
28 o
S
204 00
16 47
o i

. i
P

] L ' B :

"0 15 20 25 30 35 40 45 %0 plass interval
v It is-vequired to select fiom these 60 students the 25% students with the highest
mnarks. For that, what should be the minimum mark that a student should take?

s
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Answer 1 0 questtons se[ectmg ﬁve quemons ﬁom PartA and f fve questmns from Part B.
Each question carries 10 marks - Pttty o S
T he volume ofa nght czrcular cone w:th base radm.s' r anal hetght h is -ﬂr h

"'Part-A ’

(01) a) A company whlch pays annual dmdends 0f 2.4 per share issues 200 DOQ shares of value
Rs. 20 to the: pubhc Chathura who purchases. shares from this company. has 1% -
-ownership of this company After recelvmg dividends fora year he sells his shares at Rs
24 per share Find thc total income he gams ' : - :
3 A person. who deposxts a certain amount of money ina ﬁnancxal mstltute which pays-

. 12% annual interest. compounded yearly receives a fotal amount of Rs. 25088 at the end-
of 2 years. If the compound 1nt=rest he receives for the secot-d year is Rs 2688 find the

amourit of money he deposxts

- 02) '_a) An incomplete tablé_prepared to draw the graph ofthe function y = 5 -(x -1)2 is given below.
= T2 | 1 ] 0 T [ 2 | 3 7]
1| & | | 4 1| 4

rE =

D Fmd the value of y when x=1

ii) Taking a scale of 10 small divisions as one ¢ unit along x and y axes, draw the graph
- of the above functton . . ‘

, b) Using the graph ,
) . Write down the coordinates of the tummg pemt

i) Wnte the maxunum and the minimum value of the function s..xch that I <x s 3

m) Deduce the coordmates of the turming pomt of the graph of the ﬁmctmn y= 5 (x- :
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(03) Thc d:agram g:ven below shows an mven:ed con xcal sbaped vesscl oI base radius 7 and helght
three times its/radiug and ‘arother prism shaped vessel writh a right angled tnaugular basc and

hexght k: Thelengths of the sxdes ofthe base contammgthe nght angle are a a.nd b

The dls.gram gwen bclow shows a comcal shaped vessel of base radms a and the height
three times its radius and a prism shaped vessel with a right angled triangular base- and' '
hezght h. The Iengths of the sides of the base contammgthe right aqglc are a and b '

- - Fmd the volume of the comcal shaped vessel interms of rand @ e

E 'i'i) Find the volume of the prism shaped vessel in temls of g, band h

N i) When the comcal shaped vessel is completely filled mtb water and that volume of water
i poured mto the pnsm shaped vessel, if > of the hei ght of the pnsm shapcd vessel is

f' lled w;th Watcr Show that o=

i If 4re =12. ‘6 a=35. 5 and b = 12 8, f.'nd tnevaaxe of h to the uearest wholu number ‘
usmg loganthm.tc tables e

o a) A= (i;

' 7
by Solve v ers o

o) The table gwen ‘below shows mformatzon on the food 1tems Raw and Nxmah bought for '
their hrea.kfast fmm a canteen. . :

et

Rav1 : ;. ‘. 3 —T :
Nimali |2 7

F or the breakfast, Ravx spent Rs 55 wlnle Nimali spent Rs. 50.

- Takmg the price of a hopper as Rs. x and the price of a banana as Rs. y construct a -
pair of slmultaneous equatlons

u) Solve the equatwus and ﬁnd the pnce of a banana and the price of a hopper separatel;

‘ N

- 3
x

- (05). The length ofa srde of the square base 6f & nght pyral:md is x andthe perpenrhcular lmght
~ofa tnangular face is:2.5 m If the total surface area of the pyramid is 25 m?, show that tbe

- areaof the square b;xsms = (3 - ﬂm2 -
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(06) The frequency dlstrﬂ:utwn given below shows mfonnanon on the quannty of tea leaves that is '
 wasted from a certain tea estate ina month whxle pluckmg tea leaves and due to other reasons.

- Wastage in -o"'- 'l.’l,-'é' 2-3]3-4d5|5-6]6-7
grams S °
No._ofda_ys 2 [ 3 ] 9 -8 | 4

What is the modal class of’ t}us dlstnbutwn?
) Talung the mid value of the class interval 3 4 s the assumed mean find the mean
) 'quantity of tea leaves wasted i ina dayin kllogralr :
iii) If the quantity of tea leaves wasted every monﬂ: is as above, find the quantlty of tea
R .Ieaves wasted in a year m kxloyams . v

If the price of 1 kg of tea leavee is Rs 70 gmng reasons show that the annual income
_ that the owner of tive tea esiate loses lS Rs 100 000 o ' ;

Part B
v (Answer ﬁ‘ve quemons on!y)
40 students participated in the muslcal chair game held in a children'’s sports festival in a
ceriain school. After every round, 3 chairs were removed from the circle such that 3

_,_chlldren could be eliminated from the game. “Using the formulae of the relevant
- progression, find the number of rounds of the game held. If each round lasted for 3

minutes, gmng reasons, show that it took more than one bour to finish the game -
‘Find the common rauo of 2 geomemC progressxon 'with the second term --3- and the -

. seventh term 162

A dlstancegf 12 km has been represented by. 24 cm m 2 map BN .
i) Write the abové scaleas a ratior = .
- i) In the above map, the dlstanee'between two cmes has been rep*esented by 75cm.

Find the actual distance berween the two cities. _
The figure shows a vemcal buﬂdmg AC and a verﬂcal tower BD loceted in a level

v gtound S
o " The point B, the foot of the tower, is observed
- with an angle of depression of 2415 from a
wmdow of the building. The window is 10m
_ sbove the ground level. -

i)‘ Copy the above dlagram onto your answer sheet ana mclude the abm 2 mfonnauen nit,

e n) Usmg the mgonometnc rat!os, ﬁnd the shortest d1stance from the buxldmg to the tower

' m) If the hexght of the tower is 48 m, ﬁnd the angie of elevatmn of D from X (DX.Y)
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(09) a) An mcomplete Venn diagram conwmmg tlw mEormatmn about how customtrs bought

chilli powder, curry powder and turmeric powder from a grmdm,g mill ona day is shown
m the ﬁgure ‘ : , _

~ chilli ’pomler_'__ 3

_ Tunncnc—"-""r:»
s ,powder ;

. 40 customers bought curry powdﬂr Fmd the number of customers who bought curry
powder onls v
25 customers beught tarmeric powder 10 bought only chaih powder. The number o*’
" customers who came to the grinding mill on that day was 70. Copy the Venn
- diagram ento your answer sheet and inctude the data in it and find- the number of
' customers ‘who bought at least orie of the above commodities. )
b) . A box contains 3 blue pens ‘and 2 black pens. All these pens are of the same size and
' same shape. Nimali and Himali take two pens at randorn from the box.
i) Represent’ the sample space showing all possible ontcomes in a grid. -
ii) Find the probability that both of them obtained two pens of the same colour.
- 1i)) Find the probabﬂxty that Hmw"h obtains ablack pen and Nimali obtains 3 blue pen.

- Using only a pair of compass, su:axght edcre thh cm/mm scale and showing the construcnon

~ lines clearly,
') “Construct thie triangle ABC with-BC=6.5 cm, ABC = 45° and BC4 = 60°
i) Constructa line parailel to BCthrough 4 =~
iy Mark the point D on the above constructed fine where BC = AD such that the points C
andDareonthesamesndeofAB ' '
Write the name-of the gcometncal shape ABCD staL theorem based on whxch this name

isproposed. . . .:.
v) Construct the citcle whxch paaaos through the pomt 4 and | touches 2C at B

In the circle 'wi'th centre O, BE is a
.- tangent drawn to the circle at 4. AC and
" AD are two chords. -The line BD
mterseéts the circle at F and the line
AC st G. The centre /O lies cn the line

BDand DAE=60° . .
0 Fmd the magmmdé'ACD
i) Find the magmnzde ADB

i) If BE W/ CD show that 4 CDG =4 A.DG
w) Show that the quadnlateral ABCE is arhombus

2 In parallclqgram ABCD the pmnt E Ties on the side DC sach that DE : EC‘ 2:1. The side 4C -
-and the sndc BE mtersect at X Mark thcse dataina ﬁgm'c and show that CX= —AC

. R0 7P Sesgd ndien 2yl 259 ( mathspapers.info ) 28k 2enziete @i
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